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(cos@ +isind)" =cosnd +isinné.
b LS SS ) (S
Z =r(cos@d +isinH)
Z" =[r(cos@ +isin9)]"
=r"(cosnd +isinnd)".
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Z=1+i — (1,1)
1Z|=r =X +y2 =07 + (1)* =/2.
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4
Z =r(cos@+isinb) :ﬁ(cos%+ isin%).
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(1+1)" =r"°(cos106 +isin106)

10 107z
=(+2) (cosT +isin T)

l 10 5 5
—| 22 (cos—”+isin—”)
2 2
—25(0035—+|sm5—”j
2 2

=32(cos 450 + i sin 450)
=32(0+i)
= 32i.

(L) ) 2

r=+/2, 0:1.
r=(2)"= [22j o=t

16°
A+i)®%= %(cos_?T” +isin _?T”)
_ %(Cos(—Zﬁ) +isin(-27))
_ %(005(27[) _isin(27))
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o Ifn=2
(cos 0 + isin0)? = cos 20 + isin 20
cos? @ —sin? @ + 2i cos 0 sin @ = cos 20 + i sin 20
101 doxicw U1 cBlgluned] Lol g3 Jlamiuwls
sin20 = 2 cosOsin 0

c0s260 = cos’ 0 —sin’@ =1-2sin’0 = 2cos?0 -1

e Ifn=3
(cos@ + isin@)® = cos 380 + isin 36
cos30 = 4cos20 —3cos
sin30 = 3sin 0 — 4sin3 0
o Ifn=4
(cos@ + isin@)* = cos 48 + isin 46
cos40 = 8cos* 0 —8cos?0 +1
sin40 = 4sin 0 cos 6 (1 — 2 sin? 0)
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